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Completeness Property of Real Numbers
Every real number has a decimal representation and every
decimal represents a real number.

Remember: a Rational Number is any number that can be
expressed as the ratio, or quotient, of two integers
(the denominator cannot equal zero).

Ex 1) Find a decimal representation for each rational number:
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The decimal representation of any rational number is
cither terminating or repeating.

Every terminating or repeating decimal represents a
rational number (which can be written as a quotient of two
integers a/b where b is not equal to 0).
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Ex 3) Write each repeating decimal as a common fraction
in lowest terms.
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An irrational number is a real number that is NOT rational.
Therefore, the decimal representation is neither terminating
nor repeating.

7=3.14159265...
V3 =1.7320508...
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Every infinite and nonrepeating decimal represents an
irrational number.

Ex 4) Classify each real number as either rational or
irrational.
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Completeness Property of Real Numbers
Every real number has a decimal representation and every
decimal represents a real number.

Remember: a Rational Number is any number that can be
expressed as the ratio, or quotient, of two integers
(the denominator cannot equal zero).

Ex 1) Find a decimal representation for each rational number:
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The decimal representation of any rational number is
cither terminating or repeating.

Every terminating or repeating decimal represents a
rational number (which can be written as a quotient of two
integers a/b where b is not equal to 0).
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Ex 3) Write each repeating decimal as a common fraction
in lowest terms.
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An irrational number is a real number that is NOT rational.
Therefore, the decimal representation is neither terminating
nor repeating.

7=3.14159265...
V3 =1.7320508...
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